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3 i " RE 59 48 107 31.2 75.8
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& B = B 43 43 86 14.4 71.6
el &7 =R 42 48 90 16.8 73.2
3 | KT HE 49 43 92 18 74
4 i HFEEE 49 49 98 24 74
5 fir| EHEE 45 44 89 14.4 74.6
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& B %97 41 44 85 12 73
AEEB  RH R 39 44 83 9.6 73.4
G G EEDD 44 48 92 18 74
4 | 4k BE 51 44 95 20.4 74.6
5 fiz| fEk == 47 59 106 31.2 74.8
B-B| =HAE 56 60 116 30 86
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A T = 43 41 84 10.8 73.2
1 K 45 45 90 16.8 73.2
3 fi]| 18 EAT 46 42 88 14.4 73.6
4 | deE B 49 45 94 20.4 73.6
5 1] #HABE 49 45 94 20.4 73.6
B-B| dt&—EB 49 51 100 19.2 80.8
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